Pilot Flanged / Center Flanged «I.D. F7/0.D.h7 » FIange Type Oil-Free Bushings

Copper Alloy
1.D. 0O.D. "
Code Type Material (Toly | (Tol) ;m
R Fl
OFR11 Pilot Flanged ound Flange ‘ . . v .
OFR12 Compact Flange High Tensile Brass Alloy(SP2) F7 h7
OFR21 Round Flange | Solid Lubricant Embedded (Graphite) o
—————{ Center Flanged -
OFR22 Compact Flange %\’\
 »
[@ Features J ™
® Self-lubricating,maintenance-free,with a stable low friction coefficient under heavy load and low-speed movement. l 3
® Excellent wear-resistance,applicable for linear and rotary movement. /%
® High and low temperature resistance,strong impact resistance. ~
® Easy toinstall and wide range of use. v
-

(@ The shaft diameter tolerances that match this product: d8 heavy load,e7 light load,g6 high precision(for reference only).
(@ Whenthe product is pressed into the seat hole,put on a little lubricating oil on the end or inner wall of the seat hole,
and use a hydraulic press or vise to slowly press it into the seat hole.Do not hit the product hard to avoid deformation of the product.

&

\

N=

a

Pilot Flanged Center Flanged
OFR11/12 OFR21/22

@
v
Tl

(..

>
B3

— Detail of A
s

A T 3' A 5,;3
Y X
S E 5 - : ik
o £ ] | ol S ST - r =
a 16 -ci a [=] 1.6/ T,
4 = 1~3
z { s 7{7 | ["Ooposite Side 1-3
L (L-T)/2
L84 LG4

Round Flange Round Flange Compact Flange Compact Flange

d=8~13 d=16~50 d=8~13 d=16~50
2-Mounting Holes 4-Mounting Holes 2-Mounting Holes

4-Mounting Holes

‘M N2 N>
~ J M~ 1
D+6 E
D+6
@ The Tolerance of housing diameter matching with this product: H7 (for reference only). The first perspective
Applicable
anitmbe, L Dw | Da| Li| H| T | h|d|d |pcD| E | F |HexSocketow
Code dF7 Head Cap Screw
8 [.0028] 20 25 30 12 11.5] 5] 27 19 19
o 3|3 —— —1 M3x10(2
10 |*93[ 20 25 30 12 | 2061135 297 423|335 ] [2n] Mx10@pes)
12 20 25 30 35 18 17.5 36 26 26
' 12 4 o2 2 F2 ] M4x12(2
PilotFlanged 743 ] 1352 25 30 35 40 19 185 %37 5|3 |43| 75/ 27 27| M4x12(2pos)
OFR12 | 16 25 30 35 40 50 22 | 90,1215 40 30 | 18 | 24 | M4x12(4 pcs)
20 30 35 40 50 60 28 27.5 49 38 [ 22 | 31
I P 7|5 M5x16(4 pcs
Cenglr:;gqged 25 | 10980 30 35 40 50 60 70 33 325 84| 53753 % 4325 35 (4 pes)
30 30 35 40 50 60 70 38 37.5 63 50 | 30 | 40
OFR22 o 209 |20 ] M6x20(4
35 40 50 60 70 44 |905[435] 10 [gg | 8|3 |03 |1 g 3q [ 43 | MO*20(4pos)
40 |159% 50 60 70 80 50 49.5 82 66 | 38 | 54
— P! . . M8x25(4 pcs
50 50 70 80 100 | 62 | 8000|615 '° |04 | 10| %3 |88 " 5750 [ e0 (4pcs)

(@) Screws need to be purchased separately.

Part Number P i
@ = _Code d . & Delivery
@ | 225 )
OFR12[ 12 25 30 U

P OFR11—d10—L20



	10: 99

